Supporting Information

[image: ]
Figure S1: Results of the manual optimization process. Zdiff of in silico model of glucose in tissue model 1 for different saturation parameters at 9.4T. Optimal parameters: B1= 5.00 µT, n= 1, Trec = 5.0s, tp = 0.1s
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Figure S2: Results of the manual optimization process. Zdiff of in silico model of glucose in tissue model 2 for different saturation parameters at 9.4T. Optimal parameters: B1= 5.00 µT, n= 2, Trec = 5.0s, tp = 0.1s
[image: ]Figure S3: Results of the manual optimization process. Zdiff of in silico model of glucose in tissue model 1 for different saturation parameters at 3T. Optimal parameters: B1= 4.00 µT, n= 1, Trec = 5.0s, tp = 0.1s
[bookmark: _GoBack][image: ]Figure S4: Results of the manual optimization process. Zdiff of in silico model of glucose in tissue model 2 for different saturation parameters at 3T. Optimal parameters: B1= 4.00 µT, n= 1, Trec = 5.0s, tp = 0.1s
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